Hybrid 592, Z40862-W03,
108,204,220,221,225,226,233,240,241, 244,248,250

ATLAS SCT Scan Comparison - log scale

Run 6516 Scan 28 Module 0 Stream O (Projection of ch 0to ch 767) vs
Run 6516 Scan 28 Module 0 Stream 1 (Projection of ch 0to ch 767)
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Hybrid595, Z40862-W04-109, low gain in partial channels

ATLAS SCT Module Test: Response vs. Channel - Fri Nov 01 20:04:30 2002

Page 1 Run 6516 Start Scan 13 Module 3 Stream O - Type.
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Hybrid598, Z40862-\W05-
17,31,43,44,50,54,57,69,73,83,85,104

ATLAS SCT Scan Comparison - log scale
Run 6820 Scan 28 Module 0 Stream O (Projection of ch 0 to ch 767) vs
Run 6820 Scan 28 Module 0 Stream 1 (Projection of ch 0to ch 767)
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Hybrid602, 2Z40862-W05-223

ATLAS SCT Scan Comparison - log scale
Run 6820 Scan 28 Module 2 Stream O (Projection of ch 0to ch 767) vs
Run 6820 Scan 28 Module 2 Stream 1 (Projection of ch 0to ch 767)
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Hybrid609, Z40862-W03-
51,53,54,55,58,63,66,6/,81,88,89,95

ATLAS SCT Scan Comparison - log scale

Run 6814 Scan 28 Module 1 Stream O (Projection of ch 0to ch 767) vs
Run 6814 Scan 28 Module 1 Stream 1 (Projection of ch 0to ch 767)
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Hybrid612, Z40862-W03-138, 141

ATLAS SCT Scan Comparison - log scale

Run 6814 Scan 28 Module 2 Stream 0 (Projection of ch 0to ch 767) vs
Run 6814 Scan 28 Module 2 Stream 1 (Projection of ch 0to ch 767)
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Hybrid616, Z40862-\W05-226, 240862-W07-8

ATLAS SCT Scan Comparison - log scale

Run 6820 Scan 28 Module 3 Stream O (Projection of ch 0to ch 767) vs
Run 6820 Scan 28 Module 3 Stream 1 (Projection of ch 0 to ch 767)
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Hybrid618, Z40862-W07-77, 85

ATLAS SCT Scan Comparison - log scale
Run 6820 Scan 28 Module 5 Stream 0 (Projection of ch 0to ch 767) vs
Run 6820 Scan 28 Module 5 Stream 1 (Projection of ch 0to ch 767)
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Hybrid621, Z40862-WO07-
202,204,207,211,212,216,217,219,225,226,230,235

ATLAS SCT Scan Comparison - log scale

Run 6837 Scan 28 Module 0 Stream O (Projection of ch 0to ch 767) vs
Run 6837 Scan 28 Module 0 Stream 1 (Projection of ch 0to ch 767)
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Hybrid622, Z40862-W07
Z40862-W07-237,239,240,250, Z40862-W06-9,19,32,40,53,60,65,82

ATLAS SCT Scan Comparison - log scale
Run 4419 Scan 28 Module 0 Stream 0 (Projection of ch 0to ch 767) vs
Run 4419 Scan 28 Module 0 Stream 1 (Projection of ch 0to ch 767
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Hybrid623, Z40862-

ATLAS SCT Scan Comparison - log scale
Run 6534 Scan 28 Module O Stream 0 (Projection of ch 0 to ch 767) vs
Run 6534 Scan 28 Module 0 Stream 1 (Projection of ch 0to ch 767)
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Hybrid625, Z40862-W06-191, unmaskable

ATLAS SCT Scan Comparison - log scale

Run 6534 Scan 28 Module 2 Stream O (Projection of ch 0to ch 767) vs

Run 6534 Scan 28 Module 2 Stream 1 (Projection of ch 0to ch 767)
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Hybrid626, Z40862-W06

ATLAS SCT Scan Comparison - log scale

Run 4404 Scan 28 Module 0 Stream O (Projection of ch 0to ch 767) vs

Run 4404 Scan 28 Module 0 Stream 1 (Projection of ch 0 to ch 767)
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Hybrid627, Z40862-W08

ATLAS SCT Scan Comparison - log scale
Run 6848 Scan 28 Module 0 Stream 0 (Projection of ch 0to ch 767) vs
Run 6848 Scan 28 Module O Stream 1 (Projection of ch 0to ch 767)
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Hybrid628, Z40862-\W08-51, 64, 67

ATLAS SCT Scan Comparison - log scale

Run 6848 Scan 28 Module 1 Stream 0 (Projection of ch 0to ch 767) vs
Run 6848 Scan 28 Module 1 Stream 1 (Projection of ch 0to ch 767)
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Hybrid629, Z40862-W08-111

ATLAS SCT Scan Comparison - log scale

Run 6848 Scan 28 Module 2 Stream 0 (Projection of ch 0to ch 767) vs
Run 6848 Scan 28 Module 2 Stream 1 (Projection of ch 0to ch 767)
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Hybrid638, Z40862-\W08

ATLAS SCT Scan Comparison - log scale

Run 4403 Scan 28 Module 0 Stream O (Projection of ch 0to ch 767) vs

Run 4403 Scan 28 Module 0 Stream 1 (Projection of ch 0to ch 767)
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